| Pine Chase Grove Quote Summary | | | | |
|--------------------------------------|-------------|--|--|--|
| January, 2025 | | | | |
| Infrastructure Construction Services | \$23,900.00 | | | |
| On Par Civil Services | \$34,800.00 | | | |
| Experts Underground Solutions | \$37,490.00 | | | |

* ICS

| 7 | 163 | <u> </u> | | | |
|------|-------|----------|--|-------------|--------------|
| | | | City of Hilshire Village | | |
| | | | Pine Chase Grove | | |
| | | | QUOTE SHEET | | |
| ITEM | EST. | | DESCRIPTION OF ITEM AND UNIT PRICES | | |
| NO. | QUAN. | UNIT | (IN WORDS AND NUMERALS) | UNIT PRICE | TOTAL AMOUNT |
| 1 | 20 | СУ | Installation of rubbermulch, complete in place the sum of: | \$ 85.2 | \$1,700.00 |
| 2 | 200 | LF | Cut, Grade or re-grade swale, complete in place the sum of: | \$30.00 | \$6,000.00 |
| 3 | 1 | LS | Installation of landscaping, complete in place the sum of: | \$6,500= | \$6,500.00 |
| 4 | 50 | LF | Excavate and backfill trench for conduit, complete in place the sum of: | \$10 ac | \$500.00 |
| 5 | 2 | EA | Adjust existing water valves to grade, complete in place the sum of: | \$550. | \$1,100.00 |
| 6 | 1 | LS | Enclosure for existing water valve and hose bib and abandonment of switch box, complete in place the sum of: | \$ 1,880.00 | \$1,250.00 |
| 7 | 1 | LS | Resodding of disturbed areas, complete in place the sum of: | \$2,500,00 | \$2,000." |
| 8 | 1 | LS | Installation of low profile fence in front of backflow preventers, complete in place the sum of: | 3,750.= | \$ 3,750.2 |
| | | | | Total | 123900,5 |

| | City of Hilshire Village | | | | | |
|------|--------------------------|------|--|------------|--------------|--|
| | Pine Chase Grove | | | | | |
| | | | QUOTE SHEET | | | |
| ITEM | EST. | | DESCRIPTION OF ITEM AND UNIT PRICES | | | |
| NO. | QUAN. | UNIT | (IN WORDS AND NUMERALS) | UNIT PRICE | TOTAL AMOUNT | |
| 1 | 20 | CY | Installation of rubbermulch, complete in place the sum of: | 75.00 | 1,50000 | |
| 2 | 200 | LF | Cut, Grade or re-grade swale, complete in place the sum of: | 55.00 | 11 000,00 | |
| 3 | 1 | LS | Installation of landscaping, complete in place the sum of: | 10,000.0 | 10,000,00 | |
| 4 | 50 | LF | Excavate and backfill trench for conduit, complete in place the sum of: | 1.00.00 | 5,000.00 | |
| 5 | 2 | EA | Adjust existing water valves to grade, complete in place the sum of: | 300.00 | 600.00 | |
| 6 | 1 | LS | Enclosure for existing water valve and hose bib and abandonment of switch box, complete in place the sum of: | 3071.00 | 3000.00 | |
| 7 | 1 | LS | Resodding of disturbed areas, complete in place the sum of: | 1,504.00 | 1,5000 | |
| 8 | 1 | LS | Installation of low profile fence in front of backflow preventers, complete in place the sum of: | 2,500 | 2,500,00 | |
| 112 | | | | Total | | |

Total = 34,800.00

12/12/2024 On Par Civil Services, LLC RHie Breedline

| | | | City of Hilshire Village | | | |
|------|---|------|--|------------|--------------|--|
| | Pine Chase Grove | | | | | |
| | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | QUOTE SHEET | | · | |
| ITEM | EST. | | DESCRIPTION OF ITEM AND UNIT PRICES | | | |
| NO. | QUAN. | UNIT | (IN WORDS AND NUMERALS) | UNIT PRICE | TOTAL AMOUNT | |
| 1 | 200 | CY | Installation of rubbermulch, complete in place the sum of: | 20.00 | 4.000 | |
| 2 | 200 | LF | Cut, Grade or re-grade swale, complete in place the sum of: | 16.00 | 3, 200.0 | |
| 3 | 1 | LS | Installation of landscaping, complete in place the sum of: | 6,890 | 10.89A | |
| 4 | 50 | LF | Excavate and backfill trench for conduit, complete in place the sum of: | 140.00 | 7,000 | |
| 5 | 2 | EA | Adjust existing water valves to grade, complete in place the sum of: | 900.00 | 1,000 | |
| 6 | 1 | LS | Enclosure for existing water valve and hose bib and abandonment of switch box, complete in place the sum of: | 8,900.0 | 8.300 | |
| 7 | 1 | LS | Resodding of disturbed areas, complete in place the sum of: | 1,800 | 1,800° | |
| 8 | 1 | LS | Installation of low profile fence in front of backflow preventers, complete in place the sum of: | 3,900 | 3,900 | |
| | | | | Total | 37 UQA | |

Youin Villand
Experts Undergrand Solutions
12/11/2024